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4. Black to play
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7. White to play

Answers:

1. Ra8+, Bb8, Rxb8+, Bc8, Rxc8+, Rd8,
Rxd8+, Qe8, Rxe8#

4.Kxe3, h4, 5, hb, 4, h6, 3, h7, f2#

7.gxf4, h4, 5,13, 16, h2, {7, h1=Q, f8=Q#
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2. Black to play
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5. White to play
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8. White to play

2.Kh7, Rn8+, Kxh8, Qb8+, Kh7, Qg8+, Kxg8,

a3, Qf1#

5. Rh7+,Kg8, Rh8+, Kf7, RTh7+, Ke6, Re8+,
Ne7, Rhxe7#

8.Ng6+, Qxg6+, Kxg6, ds, 5, d3, f6, d2, 7,
d1=Q, f8=Q#

Mate In 5 Or More Moves Puzzles
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6. Black to play
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9. White to play

3.Qel+, Rf1, Bcb+, d4, Bxd4+, Be3, Bxe3+,
Kh1, Qxf1#

6.Kc3, d5, exdb, eb6, d4, e7, d3, e8=Q, d2#

9. Rc8+, Be8, Rxe8+, Kn7, g6+, fxgb, fxgb+,
Kh6, Rh8#



